
2013 Kickoff Kit - Checklist
Container Part Name, Description, & Number Qty Photo

14 Tooth, 8mm Key Gear

4

AndyMark Drive
Base Kit 

am-0034

2 per TB Mini Kit * 2 TB Mini Kits

PN:
AM TB Mini Kit 1

16 Tooth, 3/8 Hex Gear

2

AndyMark Drive
Base Kit 

am-0747

1 per TB Mini Kit * 2 TB Mini Kits

PN:
AM TB Mini Kit 1

48 Tooth, 1/2 Hex Gear

2

AndyMark Drive
Base Kit 

am-0885

1 per TB Mini Kit * 2 TB Mini Kits

PN:
AM TB Mini Kit 1

50 Tooth, 3/8 Hex Gear

2

AndyMark Drive
Base Kit 

am-0149

1 per TB Mini Kit * 2 TB Mini Kits

PN:
AM TB Mini Kit 1

FR6ZZ Bearing

2

AndyMark Drive
Base Kit 

am-0028

1 per TB Mini Kit * 2 TB Mini Kits

PN:
AM TB Mini Kit 2

FR8ZZ bearing - 1/2" id flanged, shielded ball 

2

AndyMark Drive
Base Kit 

am-0030

1 per TB Mini Kit * 2 TB Mini Kits

PN:
AM TB Mini Kit 2

R6ZZ bearing, 3/8” ID, shielded

4

AndyMark Drive
Base Kit 

am-0516

2 per TB Mini Kit * 2 TB Mini Kits

PN:
AM TB Mini Kit 2

1PageRev A



2013 Kickoff Kit - Checklist
Container Part Name, Description, & Number Qty Photo

#10-32 x 5/8” SHCS w/ nylon thread lock patch

8

AndyMark Drive
Base Kit 

am-1120

4 per TB Mini Kit * 2 TB Mini Kits

PN:
AM TB Mini Kit 3

2 x 2 x 10mm key

4

AndyMark Drive
Base Kit 

am-1121

2 per TB Mini Kit * 2 TB Mini Kits

PN:
AM TB Mini Kit 3

5/16” Washer

8

AndyMark Drive
Base Kit 

am-1009

4 per TB Mini Kit * 2 TB Mini Kits

PN:
AM TB Mini Kit 3

8mm Ring

4

AndyMark Drive
Base Kit 

am-0033

2 per TB Mini Kit * 2 TB Mini Kits

PN:
AM TB Mini Kit 3

1/2” eClip Ring

2

AndyMark Drive
Base Kit 

am-0206

1 per TB Mini Kit * 2 TB Mini Kits

PN:
AM TB Mini Kit 4

1/4-20 x 1/2 BHCS

2

AndyMark Drive
Base Kit 

am-1039

1 per TB Mini Kit * 2 TB Mini Kits

PN:
AM TB Mini Kit 4

1/4” Washer

2

AndyMark Drive
Base Kit 

am-1027

1 per TB Mini Kit * 2 TB Mini Kits

PN:
AM TB Mini Kit 4

2PageRev A



2013 Kickoff Kit - Checklist
Container Part Name, Description, & Number Qty Photo

1/8” Machine Key

2

AndyMark Drive
Base Kit 

am-1043

1 per TB Mini Kit * 2 TB Mini Kits

PN:
AM TB Mini Kit 4

#10-32 Nylock Nut

8

AndyMark Drive
Base Kit 

am-1042

2 per TB Mini Kit * 2 TB Mini Kits

PN:
AM TB Mini Kit 4

10-32 x .75 SHCS

8

AndyMark Drive
Base Kit 

am-1047

4 per TB Mini Kit * 2 TB Mini Kits

PN:
AM TB Mini Kit 4

Grease pack

8

AndyMark Drive
Base Kit 

am-0908

4 per TB Mini Kit * 2 TB Mini Kits

PN:
AM TB Mini Kit 4

TB Mini Housing

2

AndyMark Drive
Base Kit 

am-0650

1 per TB Mini Kit * 2 TB Mini Kits

PN:
AM Toughbox
Mini

TB Mini Shaft Plate 

2

AndyMark Drive
Base Kit 

am-2230

1 per TB Mini Kit * 2 TB Mini Kits

PN:
AM Toughbox
Mini

TB Output Shaft

2

AndyMark Drive
Base Kit 

am-0153

1 per TB Mini Kit * 2 TB Mini Kits

PN:
AM Toughbox
Mini

3PageRev A



2013 Kickoff Kit - Checklist
Container Part Name, Description, & Number Qty Photo

TB Small Hex Shaft

2

AndyMark Drive
Base Kit 

am-0152

1 per TB Mini Kit * 2 TB Mini Kits

PN:
AM Toughbox
Mini

1/4-20 nylock nut

40

AndyMark Drive
Base Kit 

am-1015PN:
AndyMark C-
Base Kit 1

1/4-20 x 1.75” SHCS 

32

AndyMark Drive
Base Kit 

am-1058PN:
AndyMark C-
Base Kit 1

1/4-20 x 1” Thread Rolling Screw

4

AndyMark Drive
Base Kit 

am-1182PN:
AndyMark C-
Base Kit 1

1/4-20 x 3/4” Hex Flange Screw

4

AndyMark Drive
Base Kit 

am-1271PN:
AndyMark C-
Base Kit 1

Anchor Bolt

4

AndyMark Drive
Base Kit 

am-1267PN:
AndyMark C-
Base Kit 1

3/8-16 Nylock Nut

6

AndyMark Drive
Base Kit 

am-1054PN:
AndyMark C-
Base Kit 2

4PageRev A



2013 Kickoff Kit - Checklist
Container Part Name, Description, & Number Qty Photo

3/8-16 x 6” Hex Head Screw

6

AndyMark Drive
Base Kit 

am-1268PN:
AndyMark C-
Base Kit 2

0.19” Spacer

2

AndyMark Drive
Base Kit 

am-2271PN:
AndyMark C-
Base Kit 3

0.82” Spacer

4

AndyMark Drive
Base Kit 

am-2243PN:
AndyMark C-
Base Kit 3

1.8” Spacer

6

AndyMark Drive
Base Kit 

am-2242PN:
AndyMark C-
Base Kit 3

5/16” Washer

2

AndyMark Drive
Base Kit 

am-1001PN:
AndyMark C-
Base Kit 3

Cross Hex Nut

4

AndyMark Drive
Base Kit 

am-2244PN:
AndyMark C-
Base Kit 3

Self-tapping #10-24 x 1 1/4” Screw

48

AndyMark Drive
Base Kit 

am-1266PN:
AndyMark Screw
Kit

5PageRev A



2013 Kickoff Kit - Checklist
Container Part Name, Description, & Number Qty Photo

42 Tooth HTD Plastic Pulley Half

16

AndyMark Drive
Base Kit 

am-2234-halfPN:
AndyMark
Sprocket Kit

1614ZZ, Wheel bearings

12

AndyMark Drive
Base Kit 

am-0209

Double Shielded, ID: 0.375”, OD: 1.125”, Width: 
0.375”

PN:
Loose

6” HiGrip FIRST Wheel

6

AndyMark Drive
Base Kit 

am-0940

6” Diameter

PN:
Loose

C-Channel

6

AndyMark Drive
Base Kit 

am-2222PN:
Loose

Corner Connect

8

AndyMark Drive
Base Kit 

am-0212PN:
Loose

Cross hex tube, 500

2

AndyMark Drive
Base Kit 

am-2241PN:
Loose

User Guide

1

AndyMark Drive
Base Kit 

N/APN:
Loose

6PageRev A



2013 Kickoff Kit - Checklist
Container Part Name, Description, & Number Qty Photo

104 Tooth HTD Timing Belt

4

AndyMark Drive
Base Kit 

520-5M-15PN:
Loose

160 Tooth HTD Timing Belt

2

AndyMark Drive
Base Kit 

800-5M-15PN:
Loose

39 tooth aluminum drive pulley

2

AndyMark Drive
Base Kit 

P39-5M-30 ALPN:
Loose

7PageRev A


